Multiplication et Division par 1 000 (C)

Trouvez chaque produit ou quotient.

2x1000= 1,9678 -1 000 =
2,8+1000= 7,6 Xx1000 =
1,4848 -1 000 = 7,8085 x 1 000 =
1,1+1000= 1,978 x 1 000 =
6,747 X 1000 = 1,5x1000=

7,4 x 1000 = 1,2x 1000 =
6,1+ 1000 = 2,7771 =-1000 =
6 X 1000 = 2,56 x1000=
6,66 X 1000 = 57179 -1 000 =
7,682 +-1000 = 46624 x 1000 =
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Multiplication et Division par 1 000 (C) Solutions

Trouvez chaque produit ou quotient.

2x1000=2000

2,8+1000=0,0028

1,9678 +~1 000 =0,0019678

7,6 Xx1000=17600

1,4848 ~ 1000 =0,0014848 7,8085 x 1 000 =7 808,5

1,1+1000=0,0011

6,747 X 1 000 = 6 747

7,4 %x1000=7400

6,1 +-1000=0,0061

6x1000=6000

6,66 X 1 000 =6 660

7,682 +-1000=0,007682

1,978 x 1 000=1978

1,5x1000=1500

1,2x1000=1 200

2,7771 +1000=0,0027771

2,56 x1000=2560

5,7179 -1 000 =0,0057179

4,6624 x 1000 =4 662,4
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